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#4  Action-reaction forces are never on the same object. In this case, the action force is on the
box and the reaction force is on the person. These forces never cancel since they are on different
objects. The harder the mover pushes the box, the more it will accelerate and the more it will push
back on HIM.



ch 2-3 supp solutions.notebook October 18, 2012

—r

Bt i SR _ - — ‘3115_—5!@)?”/] e

| - 5;"‘16&’ ® i L‘

___,__|_‘_ ! Tﬂc e E C’( w-g';? J| I'C m. E X é" -
: —— swencomm

1 i Slﬂﬁc % & Q-S'jﬂn’gﬂ/ %” .

= 3505 3x L« —

i Jz 2 -

=1 - 1.3/ 10 8 N/ AT




ch 2-3 supp solutions.notebook October 18, 2012

O — ——— |22 —4
M )

@ é»
6(57//) =GN

#7

/S - BDZ‘PIS-Z-Z :22«2
1322302+ |C= OO

=302 [ 135y - ~4(3)(1<)

= 2013 0 30- %
iow 5 30U o 2P

30 g = S K m s 0T ™

2/




ch 2-3 supp solutions.notebook October 18, 2012




ch 2-3 supp solutions.notebook October 18, 2012




ch 2-3 supp solutions.notebook October 18, 2012




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

